L(l)’s Mg‘ hivwese Blaté 13

62) it _q,xz—lzﬁx_ —'/2/2
708) - goz e -4 e A
e vaa!
IE ?
Geueh
00 - (at1R) x
9 (%) 2V?f’ 7  at+ik
"N ?’ n - alx|-ikx 4>c’i\E _la+2lx 7 (=—aR)X
th) = A e = Scﬁ
/g\ ) — v:,? gm < 'f'r) V= C
4 ce
A it awm) - o=
~ alxl [ g A .,Rx pi ’ I
2, Qex) - e - fcﬁ 2te) e = gou{ = H4
L vew =] T x*tR*
A MG& 1 & C‘”‘z’( P ~ o LRI
Y AR = (V—ﬁ? T a*+x - = ¢
(1) ’;—' A
T W)=V s (B x) — T (R)= v riw ( S(&-£.) + 5(R+R.)
23
Rt -
—s T (At) = S & ( S(,z-f.)+5(,z+,2d))
/\._‘I 2
_a./?v f
j—\) Txt)= 1 e cos (R x)
L) XAt F oA N A
LW=-me 7Y T ) - P e =
_aR'¢
€ 1 4 —%2(514— af)
—> | (R+) = VT e A

¥ 7 R a ) gt r R
~ Tx¢)= v ( =4 @(L )
v
2
= A iy X4ffé +2=¢)
- (- ¢#))

T N I



9

Aurned qzcoéfbwﬂssqu} folgt

-1

(Plﬂ * pp ) ) = F [ £

- A
_-)-Z/KIWQ

I

Coe tho~ l/ﬁv/-a\(owo(

A
Pe

i

2T

(L) =

—_—

M ch /L«x{aa/oe 63) it “:t\a_

A T _'Fc:clhov7}$‘< /2' ][d(71(

P N

AR A
]m




